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An angle divides a plane into three distinct parts.

e Points Q, M, and N lic on the angle.

e Points S and R lie in the interior of the angle.

e Points P and O lie in the exterior of the angle.

#'s 2-4,12-28:
1A. What is the vertex of £57? C

16. Write another name for LECL.
L LCE /L XCE,LECK

'E —
1B. Name the sides of £5. C D_‘:_.,.(:"" 4
Ol onr CJ

an
10. Name a point in the exterior of ZCLH.
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#56-8,30-34:

Classify the angle as right, acute, or obtuse. Then use a protractor to measure the angle to the nearest
degree.

28, 2EFG | 2B. ZAFD 2C. 2AFB
rig obluse acute
0° /)0° 20°

ALa%l-hal divides an angle inlo two congruent angles is called an angle biscctor.
If YW is the angle bisector of ZXYZ, then point W lies in the interior of ZXYZ and

LXYW = LWYZ.
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#'s10,38-42: \
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ALGEBRA In the figure, KJ and KM are opposite rays, ¢
and KN bisects ZJKL. ——
N
2A. mZJKN = 5x =4 and m£MKL = x + 12, find m2MKN.
J

mLJKN= it LNK L. (angle biseetoe)
i ZIENTmINKL L MKLZ 85" Csume of 3 /o om & straight
bx-Y + bx-Y+ x+12 = 180D Ceubshitute) Iine.)
lx +U4 = 180 (combine like terms-simplify))
Ix =176 (subtraction)
x= 1 (Division)
it ZMKN = mZNKL + s ZMEL (angle addidion Posﬁuwc)
L MEN= 5x=Y 4+ xH12. (Subst.)
L MEN= ox +& (Simp-D
wel MEN= 6(16D)+8 (subst-D
wl MKN= jo0Y* (siMP)



